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Problem C-} ~ Wt. 15.0 points

PROBLEM STATEMENT

Answer the following questions based on the information given in the
three sketches: Diagram 1 is Street Profile, Diagram 2 is Street
Section and Diagram 3 1s Plan View. (See ragas 2 and 3.)

You must show all your work.
REQUIRED

i. What are the elevations of the back of sidewalk at the
centerline of the driveway and property corners?

2. What is the minimum building pad elevation?

3. What is the slope ratio from Point 'A' to the taoe of slope at
street?

4, What is the distance from the North property line to the top
’ of slope at Point 'B'?

5. What is the volume of excavation, expressed in cubic yards,
for this bullding site, based on two cross sections? Opne
section at the West property line and the other at Ethe East
property line. .

ASSUMPTIONS

A. The original ground elevation is 120 feet and level at
all lot cornmers.

B. For the flat area use elevations at the toe of slope
Points ('C' and 'D') and top of berm elevations
('A' and 'E') to figure the yardage within flat
area.

C. Neglect the driveway.

D. The South, East and West property lines are to be
considered vertical planes.
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Problem C~2 ~ Wt, 10.0 points 4

PROBLEM STATEMENT

Shown in diagram 1 (opposite page) 1s a portion of a township plat of a
survey made by the GLO in 1884, _

In 1936 the County Surveyor retraced Section 18 and found 1t to be as
shown on diagram 2. The lost South quarter corner monument was replaced
by proportionate method on line between the Southwest section corner and
the Southeast section corner a distance of 39.89 chains from the SE
section corner.

In 1984 you are employed to retrace section I8 and find it to be as
shown on disgram 3. You do not find the original South quarter corner
monument, wor the replacement re-established by the County Surveyor in
REQUIRED

l. Where would you re-establish the South quarter corner of Section 187
2. Where would you set the Northeast corner of Lot 17

3. Where would you set the Southwest corner of Lot 17

If proportioning is invelved, show the elements of the proportion, and
explain why they were used. .
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Problem C-3 ~ Wt. 10.0 points

See Diagram on the opposite page

PROBLEM STATEMENT

Sectdon 1 is in T5N, R W, SBM, and was surveyed by
the GLO in 1884. A portion of the approved plat is shown in
diagram 1.

Your client owns Lot 1 of Section 1 and requests you to survey the East

line of Lot ! and to monument the Northeast and Southeast corners of Lot

1.

Your retracement survey disclosed data as shown on diagram 2.

REQUIRED

1. Describe how you would establish the Northeast cormer of Lot 1.

2. Describe how you would establish the Southeast cormer of Lot 1.

3. What is the length of the East line of Lot 1?2

4. If the found witness corner in the vicinity of the East quarter
corner did not fall on line between the Northeast section corner
and the Southeast section corner, would there be an angle point
at the witness cormer or at the East quarrer corner?

In the sbove questions, i1f proportioning 1s involved, show the elements
of the proportion used.
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FROBLEM STATEMENT

Bee Diagram opposite page and table on page 10.

All points are in California Zone III. Instrument is 1" second Zenith
reading infra red total station temperatures and inches of Hg corrections
have been made. 4ngles shown are average of & direct and 6 inverted
readings.

REQUIRED

Latitude and longitude to nearest one tenth second and elevation to
nearest one tenth of a foot for the found 6" steel shaft.

You must show all caleulations.
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Problem £~5 ~ Wt. 5.0 points

PROBLEM STATEMENT

In a forested region of California you are surveying a section line and
find an unmarked iron pipe as shown below. You find no reference to the
pipe in the record of Survey maps or Parcel Maps at the County Recorder's
Office. The original govermment quarter cornmer is not shown as found or
determined to be lost on any map of record.

REQUIRED

Discuss how you would decide whether or not to accept this irem pipe as the quarter
corner, and sources of information used to arrive at this decision.
State any assumptions,
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Part D is the second sectlion of the land Surveyor Examination
and is to be completed in four hours. ALL PROBLEMS IN PART D

ARE REQUIEED.

Your answers are to be completed in your workbook - uge separate
answver sheets for each problenm.

You may withdraw from scoring any part of your work by isolabting
that part andlwriting "VOID" across lt. Delineate the voided part
clearly. -

Enter your identification number in the upper right-hand corner
on EACH PAGE of the workbook where space Is provided and IDENTIFY
'THE PROBIEM NUMBER according to the schedule given below.

Read the 1nstruct10ns on the workbook cover page.

This portion of the Land Surveyor Examination cansists of the
following:

Problem D-1 10.0 points
Problem D-2 5.0 points
Problem D3 20.0 points
Problem D-h 5.0 points
Problem D-3 2.0 points
Problem D-6 10.0 points

TOTAL , 52.0 points

ALL PROBLEMS IN PART D ARE REQUIRED

After you have completed this portion of the exsmination, check
your work, assemble your answer sheets in sequential. order, be

sure to 1nclude all pages (including diagrams if required), and
turn it in to the Ezamination Proctor,

You mey keep this set of examination questions.

Departmeni of Consumer Affairs
Stete Board of Registration for Professional Engineers
And land Surveyors

1984
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Problem D-1 ~ We. 10.0 points

FROBLEM STATEMENT

In order to retrace an old deed it is necessary to establish the true
(astronomic) bearing of line ABLE to BAKER, The field observations have
been completed.

REQUIRED

1. Complete the field recording sheet which is on page 2, Two copies are
provided~-fill in the first, detach and include it with your answer sheets.

2. Compute the two bearings of Polaris.

3. Compute the mean bearing of the line ABLE to BAKER.



ID#

LS-D
1984

o

. . Problem D-1

| S| HY 52 Sh ik oy :
ASU Ly 09 IR TE TRy ”
s I R Y, w
LST HJ 00:5h 14 SOty M =
. . -
EANG R AN R
LS s 2z sy oA oA LD STIE0
811 92\ po | 0oL {G
el 9t | oo |02y UM US |2
A ARG RIS
28| og] 7t | SiC| QI oel Sel o S TUE 0 |
Lz o7 ag 0814y
LSUNTg 57 T oE 1§ coumy :
LYTH oo [t oGy _
LS8 g sz ez T g Tomean] “
15dg | Wi @O p5. L S0y ]
. ) u
2= B2 &Y ) !
~79°,/0:55 8] v u
LR SHUVN3IY 'ONY | 870 [Nvaw|,asp2] wisi] e (/0 S | W[ H | 03A8I580 Loarao _m
$13A31 - UiQ |NVIW] ¥ INUZA/Z0HON| 310419 |18t 3WiL NoumD d

.d\x&.w e Y3HLyam

nrmer—

SZh hyp, H3L3INONOYHD

AVA V3AIV TSR Fer, 227 LNSWRUASNI

U«Qoﬁ 4 ¥3Qy¥0d3y Lz el L L,SW. __m.:a

L133HS  NO! LVvu3SHO

.&.\.EM 7 43Au3SEO

_779L  NolLvLs

e



LS~k

" . problem D-1

1984

sqf My ST Shik ooy
~LSUd} Lty 09 JRTE TGy
WU L S2ihnil o)
L3G| T oo 34 7§ <oy =
e 0ty 82| sk |qladiZh | to
LS sl iz | St | Y Oh 04T ST ]
811 o2l po | 0L [
bz 2¢ | oo | QLZ Y lm\LNu«Q.M_\ =z
s e 5er yiotllelbo
AR RITRII ARG B STHFD ]
™
: bzl BT ool o0& |¥
* 5¢| .5z | 26 |60 | UAATG | 7
LSU\HY sz 0E 1 G s OOV
ST HE oot Jei G oty w
LU g sz b2 6 u%odd@ _
Lsggl i ool 0 { - 010k
| 52= b2, 8T Y
~70-,/0:5% 4 w
¥ 11 SHYYNIY ONV | 8/G {NvaW]|,8/p2] wisi| e M/l s | W/ H| a3A¥3sa0 lo3rgo s
$13A3T - HIQ [NVIN| M INYZA/ZOMOA] 310819 1L 3wlL NOWHD d
VEIS ST u3Hlvam SZb Jhyry  H3L3NONOYHD SErvor f W3auooay fgel. Tk AT 34va
—  3MWA 3A31 T5ZEE7, 2o LNIWNELSN) ALTHE 7 43AYSEO | _TTIE NOILVLS
- L33HS  NOILY..43580 ~



LS-D

Problem D-1
1584
Page 3
TABLE 1 TABLE 1 ol
SOLAR EPHEMERIS JUNE 1984 SOLAR EPHEMERIS JULY 1984
For Ok Universal Time or Greenwich Civil Time For O+ Universal Time or Greenwich Clvil Time
w’éq;;:an afﬁ;:r - Equution of Time
of  The Suns DT in  Tres Sal. iller. ¥ sl
mxh d!pﬂm;t’ De:ll:.l LTt fox of m&r 1:"8’::: Mmh Tﬂ:%?" mg:' G:?‘ i
& Werk  Decliaion  for 1 howr  Eq. of Thne L tunr  Polails & Week  Dacliatios  for § hour  Bg, of Thme Fhour Pohms =
- - T M T T - Y - T T m T T r) ’ Q#-
! FR K2Z 03.1 0.33 +0Z 16.3 039 218 08.% :
7 54 NZZ 11.0 0.32 02 065 0.40 21T DT.3 Logl N3 068 0.18 08 sea2 Q.4 245 32,7 i
3 SU K2Z 1B.6 0.30 0L 57.2 0.42 218 06.1 3 92.4 0.19 -03 85.4 0,47 246 3L.S B
& N W22 25,8 0.28 01 47.1 0.43 219 05.0 40 G E e CleCht 048 2730 ol
5 TU N2Z 32.6 O0.27 +0L 3b.7 O.%5 220 03.9 § 5 ™M M24nS a2 -0k 28.6 0.43 249 27.9
. : '
ey mame on mun nw e 1o ooy on wes s o
8 FR K22 50.6 0.2 4OL O3.4 Q.48 223 00.4 3 85 i ihs Ooze -0k sb.d 0.0 281 258 :
§ SA NIZ 58,8 0.20 <00 52.3 0,49 323 594 4 g & y3t give ou3i o8 b12 ouap 252 232 i
16 SU NZ23 00.7 Qu.LlE +00 40.5 0.%50 22% 58.2 10 TU K22 14,5 0.37 =05 15.0 0.34 154 21.6 i
3 M HZ3:05.1 ©0.17 +00 Pd.6 Q.51 225 57.0 :
M Np3-0s.1 0.7 .00 28,6 051 239 510 : fé ‘r‘u NZ2 Q648 0.34 =0% 24.2 Q.32 265 20.3
32 T0 M3 0%.0 .13 400 l6.5 0.31 226 55.0 g 12 ;'ﬁf sg.? 0.35 =05 31.9 0.30 256 19.0
14 TH N23 [5.84 0.12 ~00 0B.3 0.53 228 53.3 1 I+ $4 N21 21'..5. 3'35 :g; 2:‘% 3'52 ﬁ: i::
15 FR K23 18.6 Q.10 =00 20.% 0.53 229 52.1 T 1S SU N2l 32.0 0.40 =0F 5243 0.24 25¢ 15.3 ”
& 5a - - - . . 50,9 f
11.7 .'gu g‘g gg.g g.g: _gg 23‘3 g.gi %32 5 1 18 M NIL 22,4 (.42 ~03 58.2 0422 260 F4.0
15 K N25 24.4 0.0%5 =00 59.4 OC.54¢ 232 48.6 J f; Ty ﬁ“ 2:% 0.43 -08 0.5 0,20 281 iz.8
BN oM B DED ER BN g e o nw s i
- . - " -] - » x
20 ¥ H22 26.2 0.0F -0l 25.4 O0.54% 234 46.3 § 20 FR HI0 40.3 D.47 <06 Mook 0.03 254 09.2
2L tH . . - - 235 4541 3
2 :s; g:.z g.gé _gi ;E-# g::: 2;6 s d 2L SA H20 28.9 .49 -0 9.6 Oull 265 07,9
2 TR N2z s.s 0.02 01 sb.b Ou34 236 433 :.;. ‘s'u gg g;.z Q.50 ~06 22,3 0.00 266 0h.4
24 SU NE3 6.9 0,08 ~02 17.3 Q.54 2358 41.5 2o TU MY 52.7 O.53 06 5.9 0.4 2o8 becd
25 M H23 23,6 Q.07 -02 30.2 Q.53 239 0.3 25 K NID 39,9 Du5¢ =06 26.9 0.02 269 02.7
5: ;u ﬁg %3:2 g:ﬁ :gg gg:: g:g gzg gg:g 26 TH NIS 26.8 0.56 =06 273 0.01 270 Ol.é
21 B M2319.6 0.1 ~02 5.6 0,32 241 31.7 27 FR M9 13.4% D.57 ~06 27.2 0,03 271 0f.1
<3 G - 25 SA N1B 59,7 0.50 «0b 2.5 0.06 271 58.9
29 FR H23 1440 Q.14 =03 20.3 0.50 243 35.2 29 SU NIB 43.7 O.50 =06 25.0 0.08 272 5T.6
30 SA NZ3 10u6 D.i6 -03 3204 0.4 2% 33.9 30 K KL8 31.4 Qub6L =06 23.1 Oull 273 56.4
31 SU N23 6.8 w03 442 245 327 3l TU NLB 18,7 (u62 =0b 2G.5 D.L3 274 55.2
32 W HLS OL.8 ~06 17.3 275 S4.0
Hourly diffesences in declinstion and equation of tme are for the 24 Hourly differences in declination and equation of ti
hours following 0-hours of date | lelt colume, i hours fnllwingc-hnursorﬂdzn:?a E:n‘g:l?:ma: o a0 f the 26 .
58 § 59 J

amp.



LS-D

Probklem D=1

1gg84
Page 4

cAee e

TABLE B—~(Continued)
Lacreuse is GHA lor Elapasd Time.

TABLE B
Incresse in GHA for Blopaed Time,

Hours of Ureenwish Civil Tine

Hoam of Geastywich Civil Tims
L)

w e . b ocin e L) L LA )

e v&» I ) -y g - . L) -
deived Sudes Wedns Jened Badd 2§35 Jeong tupan

uuuau auu«ﬂ BEY2Y SITHE GHBTE YLD SRRLS mEuEN PERRS prre

#Min. B a—

Smnmy annme Qunan n

RN RERNS NSRS SoUsI gL 2nun s vinen 8

~ S3E9 nanan ansne Ko

BrURS Gl 2INRS SNERR QENAG RENRA RRNTS SIRED 95US3 YIS RUNZZ BNGNY B

Sh

] e

e,
© WITYT TYVS SLUYT Y2TVL SRIWG SUEUM HHLED DXL 3583 RAREE SHITS 22

~ “HiRE" HRG~H RaeHA -NAd ~HAg THaTA ASHE S ReE SR e s e
¥ 723390 % 233323 8

2

e ZHTIn ste e muner ey GO Sy e B mEmE 5t b b ]
~ 8435 ANaeq B W 29RAE SRS R Bavn SUHNE SHNEY g BCHR S

9 BRAVT SRANN WAAN AIZIX ANRYR ILRER SRRNE IRRNS SIS SILYT WU RIIe

iy 110 e NB Ot e i R et -
,urmJu naufmﬂmuuumunmuunmaanaaun-aunaa oy Vo 1muma -] ;u‘uuM4mm
SRREN 22NN KuRND tanen SRARY SnolN WHANY NSIRS 2A0NS RARRE WRAR BRA

Gt ey L] grasa® i e —— WY e repa i -
~ duigiga .mﬁﬁ&.! Eﬂl.mw dougy ougge Hogeid e !JJ& MBM&M weieirt Z“-‘Ta mum
Fon et e i}

B VOO er sqetsm DI TICIM VI oo oo 4y DoS5 riciny Maymn

11N

ol ZoEny danas nnﬂﬂu. ARGAR RAHAR vukaR Ssulys GISTT BRNRI 35600 w_

)
0 AT o i k| % LA A Bttt Bt o B
L, RR3~H s O-ssE “HEE dag=d AE9Ad 30E SRS RAERI EEGN eI ot 3
° RS2 R2WnK EANAR AR52T 23953 99YY ¥329T ITTTT 9L wecs nuusy sanag 8
) % MO ey Py’ Fo] gt Rt o et e (lljj‘Jl-?.a..J bt e e
al~ 53375 Jvan HoRaS wgag SugE AS=is SRR ~dage dNcen dovad souss Sneae o
emmmmmmmmmmmammnxmmmmmmmmmwmmmmmmmmmmmzxmmmmu:uummmmmmmmmmmmmm
~ 5use Howny SUnRG weiea Haden denn SuSeT SeA9e 1990 FeN SuIs NS o
° BR835 35635 SEAEE 23822 Sazu snau meaes 3eavg noaee wanes mases cmeng g
" Baeen ¢ vwiaqn ow tmmy reciriol MMM e o amgarny i
af” Savsd Suody ougs Sugs aunummmwuumu:mnuzmnuann«:mNa:unmsan dEEgld) @
" BRERT SARUN TIXTZ IFT3L KARDR BUNGS SRIMR TRNRE 8S8TH wuLNy yygan 322 28 8
PO oo B e B b b B i o o .l.l.d.. ot .a.....u... ST 3o e B
5" HidE pelpey dny pend Hagss s uunsuumaaq&¢nan;a¢nzamuusmau 353
7 HESRE EREEE CEeme panss 22235 SRGi SN200 SRIST UNSSS 2RALE SRR AZSTE §

.68




Problem D-1

TABLE &—{Continued)

F

|

B EEER RERAD GAAES RAREE DEARE RESNE UHHER RUBRE BENUR S0HEY vty mustsem

SE5E SUBEE BYNRYN BEULE OEREY FEOEN UDKGN DOENE .

£ ERCEMEERERRRREE PEERE

Lnctauss is GHA far Elopesd Time
Haars of Grescwisk Civil Tios
’Ih Rz, Lagr,
e 7 Fa S 7 [
SBNEEEE (1] 8
AR ﬁi& iR
a4 | 0e 8l mm (T i 1.8
T ¥ §.& § T L% §
éﬁ ﬁru & i g;iu H i
a‘ }t‘i u?ci il i £
t.'; # 3 88 [ 1 ' £1
Mo omy (s (o T} 25
J188 M, . |44
sHE el BB EE) 8B
#4348 mi | B A4 o3 i 13
BT %] 16 -
wimEEaEa) 58
SEa EHIBE (§| 4
AR YRR TR R Y H O
£ s |k
HignEmpw (F 'y
% %ﬁ# HEIEE IR ERES
CXRN A ma‘.: |y : Fr]
1.8 I 4
oi|=af | HEIBE /8| H
BEE g el 4| 8
HlE N E s B 11
= o ¥ -]
g BB (¥
slEH EEEE E 8
XA AL TR s ¥
=, oAt N & Bl x [
- - Bi -] e
SEHBEIEE |§ |8
el R a0 @3 |8 ad & Y]
. 2 &
SIETERIER| 1B
HEE IR EIRERE
Lw g V] mn‘ﬂ u:.; : inx
o oAs ] B b
R EIEE IR
LE S8 u&i e | &
. -3
HEE B EIRERE
e 12 s Rt iE R 18
05 s o |5 u i H i
1 f -] ! ] ' 138
HEEIEEHEE i
HERN PN i
w1 | m w3 M A 4 al 1a
CERE W TR E N BT AT ® wa

-3
Ha

TABLE §

CORRECTIONS TO BE ATPLIED T0 LATITHDE TO GRTAIN
THE TRUE ALTITUDE OF PQLARLS. 1314

1 Cor, I t o, l 1 Caze. t Core,
- 1 » 1 - . » *
00 A1 | 43 R2TY ] o0 903 [ 133 3
[ 0 | ods 1.4 4] ~0l3 38 | e
6oz 83 | a7 328 ol -8 | 137 { =153
4] “$1 ] o +2,1 093 ~028 | 1 | 360
b4 52| e s [2]] =gi7 | 1N | 365
908 &1l pso (o2 ] o7 o3 [0 f -3
o0h | g0 | 05t «353.2 04 -334 | g4 1 =313
T wis | on .3 oyt -2 142 -183
ook w1$ | 4353 1 o -1t 3 ~58.7
o0d 17 en 281 | o8 -318 | 144 | o392
Gto HMIAE 059 wT 11 4] 08T 3§ -7
[ 414 [ usa *.5 134 Qa3 g [ .40
o w412 | 087 24,1 W 104 | 167 | 404
813 +lo | o3 +18.3 13 ~1id 1de | o-atd
04 45| 0% 1A N <130 | 4% | 815
.31 w485 | 080 1.9 314 -134 KO | =419
ETS e 2.3 14 36 | 188 | -422
o1y .2 ) ts 214 107 b 157 | 432
cla 33| 083 217 04 ~18.2 15 ¢ 419
0% o456 | 04 2.9 1T 150 | rsé | 433
0 w3 | bey M. 18 Tull 153 | ~638
] 501 Bib e | i 176 154 | <da2
UIH 447 | & ng [ 12 e 157 | ~asd
o3 44 | 062 +(IN 13 -19.2 [ 13§ | 443
L2d A AR 116 [} ~199 13 ) -5
s w37 | oore #l4.1 1s “au? P ¥ ]
2% +411| o1 (1Y 116 -l thl | 452
o7 «214 1 41 W4 f U7 3% BT Y Y
g +is | o L] 118 -125 16] | —46.2
g -4y | one LFN] 9 -1 164 | 48,8
am izl oaTs <132 1 -0 A 168 | ~46.t
34 M3 074 114 12 =234 LES | 459
2 “40.8 | 032 *1of 122 ~15.£ 187 | w472
53] 4] ON it | o123 Y 168 | ~413
[+ 19l e soad |t -2 | A4
s +33F 40 o] 13 ~a19 | 1M ) a1
o +1a! o1l Wiy | 138 -6 § 171 [ <22
r 1341 oAl 064 j*¢) «19.3 12§ TS
[ ] +1131 o W56 128 -39 173 | 41y
on +3T4[ 0% LS ) 04 | W [ aes
o0 4353 o8 039 | 130 -3a s | -y
B4 4337 oM L (25} ~119 11 | -482
042 3571 ot 022 | 132 =313 11| a3
a4l +153f o83 1.3 133 -13.1 170§ 433
odd +ME| 089 oL [ 134 -3 1 | .ans
043 “3450] 08 =041 | 135 -H.3 180 | —an3
Thds Tabt is Cumpaies fur Latliwde £5° D000 N and Declination of 15° 11743 H.
73




LS-D

1984
Page &

Problem D-1

L9
BT nit { [T3 ]}
9| 9 oKl 63 “M
Ay -ug LU 3%) T vy 6651 J01 "y
€09f §IE
jtx TR KA LT
oran | 9 R Ie {H
$I%L] » Canp W | & #mp el {1 g
Iy o e b ose
0y 51 1 ef o091 ot
war) fong 5l | §  aumgp siol lof ws
. 92'9) fIf
el o il il
OEF1| & cdwg st | g Ay &9 |1 wm
: LBAE - 145 . 23
i Al T » U n
w2 W oo oume ] o
FEL UMD U0 30 sunly, uaer) o0 304
Yool HTLAWVIOHERS N6 JHL
»AMmVL
BIURI} AT~ OF w NDTIEVTSS]
GE0L T OLRY 0 JET
it rker ol or 1908 lesgr ¢ Fgl
¥y esiv o] 9 TFOL 1 WFEr & |6 g
FETL] WAy 0] 8 s eoar o lo
6500
it | daer o or 1oL foray 0 1O
SCILT £igr 0 91 oL pEERy u |oi A
SEIL] Wer 0| ¢ ey wor [oswr o Jat
1 5y
BUIY Wtk 0| ez 64 *ir ¢ |01
Irie ] ey o] £ I ¥ur T jol Csv
Wity arey 9] ¢ o
oz ster 8 |3
TSR E var 9§ ¢ LU {otar o (it
SWOL | ooy 81 I1 EESL {0 0 U
Wioi] vy af L g N frRr D Y R
el m el o o
[y 13 3y 0§90
] w5ty 0] 4 v EFCEL I 6ERY 0 {91 "qey
ECEL J eI o |ig
004 | &viy @ f &t CE4L Jeiar o (13
ol | olsr G &l orKM [ 8 1
Loy nwwr op & Aor b orip |eiwe 0 JT oy
L]
« » 51 T
»i) sphuy re wney gty b
UG g g g

BE D UM maale) a0 bet) rrizaTef) Yy ey
S361 STHVTOM 40 I38V1510 WY IO

cangvy

GRS S BTy it s

93

HIGE “ROQF A0 LT m WRg SAF = Y tedp{ AWy aldumesy

VELES o6Z 10+ .OFT — 0000 08 ~ Ty oL
ABIT = Sy r e (e D) e uonEL ey

COSE “ASTE 10 "W §T = TN 0L ~ WY ‘ween fueg -epdwerg

kT A

B MO0 88 e obanes

"3 O "dmay, i

"3 .00 "dwag iy

aa'g oL BFS o9 +
“M”W me du.m_ [ ] Bl a1 +
GRS T T
o o8+ | 258 o BY1 nw —
L] “EHL 1) By Japd AT
-m»-wﬁ .mnsun. -_:mua »mnauh Ry ‘duray,
FAIVASIHNIL F0O2 SN
259 YR TR
£60 g8 T
we Q0L [-¥11 0 L1135 by 7 4
U0 #OYEL E'BL L] A58y 9%
X o8t (13 508% RE
n-m.“ MWMMM [y 3 190 gy ¥
[{}:F.04 8 F:1] $3 SOHE o't
we o g | | S| W | o
¥ u
hn.n- nm““— 0T o0 A4 498
89 | B R f mo | ow | o
%M“ w-a- &'0g »"o 9108 i
[ Wi $80 LT T
Muh.“ Mhﬂz ‘N3 1] EO¥T ol
YL [ T3 rig Fi%] Fliv4] BE
iy ] bi1ix] T 458
B (8|8 B =
90 “M“p ott 01 16 +} o6
e fent P 101 oo oor
oad byl o o) o=
18" 19 + & €01 9P — 09
] R are) Fand {19ag) (esgoy)
T I T N T

HOILVATT] 30 3ANSsIas
STETAORYH UTAZISHO 204 SEITIAILINM

“meieq eadweag seg 7 VL 19000 bL
=T IEYL

£9

‘Papavbaurp wiw FusKvAs|e nu. SHMIGYYTY  CeE O[I9] uf u3xb
saNEA 2y Yith anepanose 4} Lye20) s% o uvjivand sy) wos)
PHOWIES g Al )y TMOUY JOU B} B DRBwseq a1y )}

“d ofK} PUP saYDL} goEr T 7y
Pt 8] F upgel yaiym uo SROUY O] IFIR aanped kited) s pue
Ranesard DLNFWCIPO gy valm v S[Qe] ) s3otunaw ooy Ay e
Guthidpimu dq pappasion 2w 7 ajqe) W SATRA BOIRIA BYY

i

o0 ocn o0 0§ 5I'D ElE 0 L1
EQQ Lo o0 0B o ILE of 91
SO0 SE'D o 0L El'D iEE [L B
oo SFQ o) 53 | 2N ivE o 51
o 550 00 0 »1°0 e 0o 51
B0 970 0o 55 FED S9E QF bi
&0 o5y o0 08 1o SLE 00 Fi
oy'e BED 00 g ¥I'0 £6E 0 el
org £6°0 00 o ha i) e or El
i1ro o'l 00 +¥ *'D SC¥F o ZI
1o farg 00 ¥ g w'e o0 €1
wo 194 o or LNy ¥y [ R
cra T 00 BE o 1y oL oI
[ ] @y o of ¥i'D |8y oo Il
el Tkl 0 Mo S5y oy a1
EI's £5'1 00 IE ci'a ore a0 ol
EID o091 00 9€ 510 are o« 31
£10 LI 00 6 ci'o 'S 05 &
Elg [L28] 03 o S1'0 EYS Cr &
€ro it 0o L piR] £5'S Ot &
£l'n 961 09 9 510 2 31 oz &
¥D [} [ 10 s ol &
Flo SI'E 00 ¥ si'o LHS [ ]
LaN] 1A 4 w e S0 Z6'G o5 8
10 BT 00 i §1'0 s (4 ]
o BrE o0 i© si'0 EI'g 0 8
o oz o9 o bk §2'9 o B
10 [{A A o8 ol S0 [y ] o o8
o LLE X &) oo 0s'e m g
10 ST e 8 510 99 o5 L
0o EG S [s I ] S0 SL'9 ar L
o are CE £ 510 54 o L

. . * L] v - »
ot | uoR spryy aeg Lan FPYRNY

Bung | -oenmy | pranteajy I sung | -orney | paimetaly

415 = dua], 0§67 - Ty
(91 vded sag ‘ssprye Paatasqo o} paydde ag 01}
. XYVIYEV SNNS QnY NOMOYIIEE

Z 3BYL




2%

L5-D Ib

1984
Page 7

Problem D-2 — Wt. 5.0 points

PROBLEM STATEMENT

The following questions pertain to Littoral and Riparian Rights and
Boundarles. Complete the seutence by providing the missing word or
words .

REQUIRED

l. The increase of lamd by the permanent withdrawal of sea, river or
lake 18 ecalled ' .

2. Land 18 not lost by but Is lost by gradual

3. The of a lake or river is the land which is
covered by water sufficiently long to keep 1t bare of vegetation.

4, Mean Sea Level at any one spot is determined by average hourly tide
readings over an period. ‘

5. The four fundamental methods of dividing accretion are s
’ and .

6. Where, from natural causes, land forms in imperceptible degrees upon
the bank of a river, stream, lake or tidewater, either by accumulation
of materials or recession of water, the process and end result are
called and .

7. The ownership of an island formed in a river or lake by accretion
belongs to . .

8. The ownership of land lying between the meander line and low water
mark is determined by .

9. In the case of double descriptions involving Riparian Boundaries,
the comstruction giving the greatest advantage to the
prevails.

10. The middle, deepest or best navigable channel is called the

Two copies of page 7 are provided--~fill-in the FIRST copy, detach it, AND
INCLUDE IT WITH YOUR ANSWER SHEETS.
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Problem D-2 - We. 5.0 points

PROBLEM STATEMENT

10.

The following questlons pertain to Littoral and Riparian Rights and
Boundaries. Complete the sentence by providinz the missing word or
words.
REQUIRED
1. The increase of land by the permanent withdrawal of sea, river or
iske is called -
2, Land is not lost by ] but is lost by gradual
3. The of a lake or river is the land which is
covered by water sufficiently long to keep it bare of,vegetaticn.
4. Mean Sea Level at any one spot is determined by average hourly tide
readings over an period.
5. The four fundamental methods of dividing accretion are s
] and -
6. Where, from natural causes, land forms in imperceptible degree§ upon

the bank of a river, stream, lake or tidewater, either by accumulation
of materials or recesslon of water, the process and end result are
called and .-

The ownership of an island formed in a river or lake by aceretion
belongs to “

The ownership of land lying between the weander line and low water
mark is determined by .

In the case of double descriptions involving Riparian Boundaries,
the comstruction giving the greatest advantage to the
prevails.

The middle, deepest or best navigable channel is called the
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Problem D=3 ~ Wt. 20.0 points

PROBLEM STATEMENT {See diagrams on pages 10 and 11)

Mr. Jones gives you the deed to his property with a request to perform a
field survey and monument his property corners. In addition to his
deed, your research of available record data provides you with the
information shown below. Your field survey finds & double set of momu—
ments at the base of a very old fence along the line of a prominent
ridge, on the south side of Mr. Jomes' property.

Your field survey agrees with the survey information provided by tract
10000, in that 1t finds the same measurements in addition to the old
originai monuments per Record of Survey 1-1, in addition to a very old
fence along the top of & prominent ridge.

REQUIRED

How would fou interpret the legal description in his deed, together with
all other documents given, in order to establish the southerly boundary
of Mr. Jones' property: State reasons and give references.

GIVEN:

1. Crantor ~ Mr. Green, Grantee — Mr. Jones rJune 1963

That portion of the Rancho Espana, in the County of Orange, State of
California, as shown on the map in Book 1, Page 50, of Patents, and
more particularly shown on the map recorded In Book 2, Page 100 of
Record of Surveys, all In the office of the County Recorder of said
county, described as follows:

Beginning at Rancho Espana corner number 12 as shown on said above—
mentioned maps; thence North 85° West 1000 feet along the Northeasterly
line of said Rancho Espana; thence leaving said Northeasterly line
South 10° West 1000 feet; thence South 37.5° West 231.22 feet;

thence South 80° West 1000 feet to the true point of beginning;

thence continuing South 80° West 600 feet; thence North 3° 27' 40"

East 800 feet; thence South 86° 32' 20" East 583.52 feet; thence

South 3% 27' 40" West 660.33 feet to the true point of beginning.

Containing 9.78 acres, more or less

2. Grantor — Mr. Valdez, Grantee - Mr. Creen December 1932

That portion of the Rancho Espana, in the County of Orange, State of
California, as shown on the map in Book 1, Page 50 of Patents, and
more particularly shown on the map recorded in Book 1, Page 1 of
Record of Surveys, all in the office of the County Recorder of said
county, defined as follows:
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Problem D-3 (Continued)

Beginning at Rancho corner number 12 as showm on said sbovementioned
maps; then North 853° West 1000 feet along the Northeasterly line of
sald Rancho Espana to the most Northerly corner of the land shown on
sald map recorded In Book 1, Page I of Record of Surveys, said point
being the true point of beginning: thence leaving said Northeasterly
line along the Southerly boundary line of said last-mentioned land,
the following courses: South 10° West 1000 feet; thence South 37.5°
West 231.22 feet; thence South 80° West 1600 feet; thence leaving
said Southerly boundary line North 3° 27' 40 East 1605.89 feet to 2
point in sald Northeasterly line of saild Ranche Espana, said point
being distance South 85° East 200 feet, as measured along said
Northeasterly line, from Rancho corner number 11 as shown on said
maps; thence South 85° Bast 1800 feet along said Northeasterly line
to the true point of beginning.
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CONTAINING 44.74 ACRES, MORE OR LESS, GROSS.

5. FORTION OF RECZRD RANCHO. CORNER.
OF SURVEY 1-1 ¢ f; *10

- N @cﬂo CORNER
T 3
//// . . ;1¢L1533f,

N&7.5°E
230.22°

> Prry A
‘ LA Sany =, RECORD CF SURVEY !-1
-O- mmzcgggs. Eg}} ;/9&‘»' STEEL PN WITH TAG 760 ) RECORDED NOVEMBER, 1932 AT THE

OF MR.CHARLES WHITE, IN Baok,

- INDICATES FOUND ORIGINAL 12°KIZ% SENE 1,PAGE | OF RECORD OF SURVEYSS, ORANGE
EsPANAY count |

MARKED * RANCHO Y, CALIF,

4. FORTION &F RECORD CHO CORNER
OF SURVEY 2-100% ™~ 5

-0 INDICATES SET 1*1RON PIPE

MARKED *LS 300", RECORD &F SURVEY 2-100

-8 INDICATES FOUND ORIGINAL 129X 2" STONE RECORDED MAY, 1963 AT THE REQUEST
MARKED * RANCHO ESPANAL, OF MR, JOHN JONES IN BXOK 2., FASE

& INDICATES FOUND 5/8F STEEL PIN WITH A 100, OF RECLRD OF URVEYS, ORANGE
MARKED L.S, 100% UNLESS OTHERWISE NOTED. COUNTY, CALIF.
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5. FORTION ©F TRACT Ioxp:

N
NN
AN
O\
AN
)‘x
FOUND 58" oTeEL PIN FOUND 58" sTEEL PIN WITH
HITH TAG MARKED ND {* PIPE TAECED TAS MARKED "LS (00" PER
" 5 100" FER R&.]-1, *ng gojb'mrgg RS.2-100 RO, I~}

FOUND BB° sTEEL PIN HITH
TAS MARKED Y& 1O PER,
RS, 2- 0.

INDICATES SET ZMRON PIPE TAGSED "RE 20000"
INDICATES FOUND SPIKE AND MASHER. AND TA&
MARKED URCE 20000" AS REPLACEMENT FOR.
ORIGINAL RANCHO CORNER, MONUMENT.

-0~ INDICATES FOUND MONUMENTS AS NOTED.

L
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Problem D—-4 —~ Wt. 5.0 peints

PROBLEM STATEMENT ‘ L )

Topographic mapping by photogrammetric methods is required for the 120!
acre site shown below. The mapping will be used for final design plans.

REQUIRED

l. Complete the following:

Map scale

Contour interval ] -

Photo scale

Target size

Minimum zccuracy of fleld control

2. Draw your flight plan layout on the map shown below. Show the
desired location of your field control points on the flight plan.

=2 1000" e

UNDEVELOPED AREA

e IMPROVE

2 . b ROAD / =

| T} Q ! :
gg bfé . VACANT é Eg
5 g . " . oo
F P COVERED WITH HEAVY BRUSH 8 e
. — [
bg VACANT m.?;
2 4300 oo

\ 5

)

EXIST. RESIDENTIAL 3UBDIVISION

r
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Problem D-4 - Wt. 5.0 points

PROBLEM STATEMENT

Topographic mapping by photogrammetric methods is required for the 120%
acre site shown below. The mapping will be used for final design plans.

PR

REQUIRED

1. Complete the following:

Map scale

Contour interval

Photo scale

Target size

Minimum accuracy of field control

2. Draw your flight plan layout on the map shown below. Show the
desired location of your field control points on the flight plan.

Two copies of page 12 are provided-~fill in the THIS copy, detach it, AND
INCLUDE IT WITH YOUR ANSER SHEBTS. -

21000

UNDEVELOPED AREA

O = IMPROV

2 . ED ROAD / 3

s TY| o i =
gg_J = o/  VACANT 2 55
a 2 , m - 0w
S P COVERED WITH HEAVY BRUSH 8 @z
> - o
5 | VACANT Fa
2 4400 oo

>

\ &

EXIST. RESIDENTIAL SUBDIVISION

*
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Problem D=5 - Wt. 2.0 polnts

Write a legal description for the 20 acre parcel shown in County of
Santa Cruz, State of California ~ all dimensions shown are record and

measured.

Bearings are based on polaris observation.

SECTION 2 TID S R2W
MD M
Not Found . wesy 6x& Conc. Morumen}-
\0 o S
2 &2 2 A4
Bx D Shake Yo" 7 g
2p" Rédwoee I
AN B W B.5 FT :%
N
| (,rﬂ&? %
l DESLRIBED
E? Lo mmrm e s e i e l O A . 3
§ N\ A 0rig. Bx D Stake t Fa fz* IR /\107299
v | e s” Besrirg frees | Besrina frees
per dovt. Notes i dheck Govt Abtes
¥ } %
(
| " lron Fipe.
Counfy surveyor *
L o g #0 .

/=, o4 Fr. Bwd L »
Je b aiel srimint
545" W 22 IKS WW Gor. Sec 13’
Fer Gevt: Nofes

SECTION 4

TI10 &

RZW MDM
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Problem D-6 Wt. 10.0 points

Prepare Legal Descriptions for all partions of each lot in the order shown,
i.e., (1) First, (2) Second, etc. The Legal Descriptions wust be sufficient
to properly convey each parcel and there must be no ambiguities created.

The parcels will be comveyed in the order shown.

1. 2 Points 2, 4 Points
EAST =AST
3
’ O
" () (2)— (B! LN
. l :
d . -
o\ VZ '/Z fg &
g : o 3) .
AREA ALeR = Q-
< > .
Q \V/ g
y 0
) « (’2) *
: EAST
3 4.
2 Points 2 Points
EAST
|
('2\) () »
“
I AL
- ; o
Lol 3 P v
215 AC L. 1S AC Z [
0@
’?f'@c(“




